C[La/oic/ £

S
Y he EYroys 9.

___———-—c_—-—o’_—’—

A{géV{H‘m s A)Sef ﬂ/ Fules f/?af f/é CfSe/Z] ”‘eigfncs

/5

;52‘1/“8”56 6/5/06'/6‘54775 LLO Sa‘Vc ﬁ(jf(/@n fﬂablem.

A/umm'Ca/ amé/ifig» A branch o mathematics

I;mcf/;%ﬂ;;;o’{ @n@erne/@‘ W'mélq MQZ%&Jg am@4

o«lgorif/ﬂrm far é@fﬂtl@
> FV&é/ems,

ﬂl/ﬂ/y ro Xi Wloﬂ?fn %U\\L\‘b\t‘mﬁ

77/@; 9/ eyrolrs -

@Absdluﬁiiwfg The difference between the

g value X . 'Hrkﬁ @\F'FYBXTMQ‘Ee th\/(e )?
0\%\@\ oq&lﬂmjle;o. LD Ay

E Ax:x_&




:
@ Relative error s 1z, vatio of the absshudeenwsr

£ x ‘1_’,6 ‘t)«c true Value )S o/mg/l r/lehdféck loj g)('

A .
Examples T# x= 0.008 avd X =0:007, Find
‘qu a[jgolufg Q’er)& N”ﬁ]cx%“ﬂ/c eY'Vors P

%o\\’k’Hohz AXZX—")/(\::@*GGQ” d-50F=0-00l
e |y
o 5.006 3

=0.115

EXO\‘V\/\P\&; 'L_e )(::\00 ow»c) ;(\:c\?) f”\c,k DX

o




Ul

5 —— ©

D

/- /Oél/(ho/{ 0/ Error =
ACJV)Z/?VIZZC}/ ﬁnlj VﬁﬁV@5€h£ A Mumée/dﬁf%xi\rﬂﬂw

‘fy)/ €)(MMV,€ a mumbt)/ l‘kt %/ W‘"‘(‘jbe Vefréﬁe,n1:eo\a5

32 SR /Oc.

Then the viounel er’—{f eyyor n
4;» 4.33%33%3=0.000000035
alss ))'k@ TF g \//i e

this case 1S

e
2—— //”W”Calézrom eyYor ¢
e T
it o BRPOT s oleffmc) gn The errr Cmu;@(

bj "Zruncak\\ ann A& MQ\%LLQV\/\O\{:QC f’/"C(’/A\AVe/—
For ezmmp/e, the Mac laurin Series 15 qiven IOJ .
Z 3
6X;|+7(1‘_L»+ ZS_/_,\,.\,\\
The SeYlﬁﬁf has ‘th'w\\‘ke, NUMb v 4%-&”'4/( to
2

| X
C“lc“/“{& e, then St t—rx*'zxt
/lfe 'lL/VM)’lCa‘LL/“ah error St&c\m aAn cﬂt{)i)ra )('\vv\q‘t{gn
L5 A 3 7
8)(—' D’TX*L :—24-—!‘,)_(_.,1»\~\
G- )



